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Reflection Paragraph

The main topic covered in class this week was series pipelines. In a series pipeline, the

fluid flows through a single continuous path which means that there is no change in the
volumetric flow rate “Q” or in other words, Q 1 = Q 2 =Q n = Q total.

There are five types of problems we encounter in series pipeline systems. Each class is defined
by what needs to be solved whether it’s energy losses, flow rate, pipe diameter, etc. One thing
that was emphasized by our professor was to ignore a couple of the equations we find in the
textbook. For classes two and three, (find flow rate and find pipe diameter) the textbook gives us
equations to use however they are designed for a single really long pipe. This isn’t something we
see regularly so to avoid making the mistake of trying to apply those equations, we’re instructed
to ignore them entirely.

For finding energy losses, we use the Bernoulli’s equation to find it along with the moody
diagram to account for relative roughness and to find things such as a K value. For classes two
and three, there is usually some guesswork being done to then be proven correct. The end goal of
this part is to get both sides of the Bernoulli’s equation equal to each other and if proven
incorrect, repeat the steps to get to the correct answer. Ultimately this is another example of how
helpful Microsoft Excel is in applications such as these. Rather than go all the way back through
and re do the work, all you really have to do once everything is loaded into Excel is to change
the values as you see fit and the software will do the rest for you.



